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Name:

I Semester B.Sc. Desre (CBcSS - OBE Regular/Supplemenlary/
lmprovemenl) Examinalion, November 2023

(2019 Admission onwards)
Complemenlary Elective Course in Statistics
1c01STA (G & P) : DESCFIPTIVE STATISTICS

lnstruclion : Use al calculatorc and slalis cal tables are permjfted.

PAFT A

(Short Answeo

Answer arr 6 qleslions. (6x1=6)

1 Whar s prnary dala ?

' Da1 a r' h-- c rpa- ot r6quency datd.

3 How will yo! Iind range ol a data ?

,. Wldr|. n6d_ ov m6dJ- e o l ,cos's ?

5 Detne poplla1Dn.

6. Whal s Jldament sampiinq ?

PART B

(shorl Essay)

Ans,Lr any 6 qJd io l6t2=1?)

' w! d. d,p I p n., .od5 oi .o ecl -g p. naa/ oo.o .,

8, The rnea. weight oi 25 boys s 78.4. Later t was lolnd lhal lhe weighr oi one
boy was misread as 60 insiead ol ihe corecr valle 96. Calculare the cofrecr
averaoe.
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L Find lhe harmo.ic mean o1 1 1 , 1 4, 8, L

12 Caculale slandard deMalon oi 2,3,6,8.

measures oi dispersion ? Explaln.

Wr'ie any one measure oJskewness.

fll]] I tNt[l [ !u]l!I i

(4r3=12)

ids'YB, c, D are siven in rupees16 l lea llhcare expendil! rdFE

20. Wrile the dliference between Census and sample suwey.

17.

1a Deline mean devialion aboul mean. Whatare the meils and demeriis ?

19. Two workeG Aand B doing sameiob in comPany.l\,4ean lime olcompleling lhe

jo6 (in minules) is 40, 42 and slardard devialion (minuies) 8, 6 respectivey-

Which worker is more consislent ?
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(Lons Essay)
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(sx2=10)

21. Whal is neanl by ogjve ? Draw a less lhan cumulative ogive using lhe tollowing

data. Estimate lhe numberoi persons ben een age 27 and 42.

225 275 32s 37.5 42.5 525 575

\,, tPo/ 59

22.

23

Answer any 2 quesl ons.

Cal.uJate coetticienl ol v

What is samplinq ? Wh

20F25',25 -30
,1 4


